V- Major Results since 1957

Fill out the text using the words from the list below:

border-free, consultation, currency, exporter, landmark, pensioners, sells, services,

standards, train.

1. Custom Union (signed on July, 1st 1968)

In 1967, a common tax system on goods and ____services______ (1) value added tax was

introduced.

2. The CAP (Common Agricultural Policy)

It was introduced in 1962 because the Community was producing only 80% of its needs

(compared with 120% today). Its goal was to reduce dependence on imports high internal

prices, tariff protection at outside borders and Community Preference was introduced.

European farmers have kept up their activity, surpluses have been created (called “winelakes”

or “butter-mountains”) and attracted criticism. The CAP was redesigned in 1992 to cut

back production and to respond to the public’s changing priorities. This shift of emphasis was

effected in 1999 including a rural development policy helping farmers to re-structure their

farms, to diversify and improve their product marketing.

In 2003 a new fundamental reform was agreed. Today’s CAP is demand driven, the vast

majority of aid to farmers is paid independently of how much they produce. They also have to

respect environmental, food safety, phytosanitary and animal welfare_____standards_____

(2).

Nowadays, the EU still imports 60% of its fruit and vegetables and 50% of sheep meat: the

EU is both the world’s second largest ___exporter_______ (3) and the first importer of

agricultural produce.

3. The EMS (European Monetary System)

The idea of a European Monetary union has been in the works since the establishment of the

EEC in 1957. The first ______landmark____ (4) was the creation of the EMS and the

introduction of the ECU (European Currency Unit) in 1979. It was replaced in 1995 by the

Euro, which was used by governments and financial institutions alone until 2001 when it

became the official _____currency_____ (5) within the European Union.

4. Cultural exchanges

Teachers, students, young people can go to study, _____train_____ (6) and work in other

European countries: Erasmus, Comet, Lingua, Tempus, Socrates etc.

5. Scientific research

It has led to European projects such as Ariane and Airbus, products Europe ____sells______

(7) to other countries.

6. Suppression of borders

In March 1995, the Schengen agreement created a huge ____border-free______ (8) zone.

Passport checks were abolished for seven member countries: France, Germany, Portugal and

Spain. Italy, Greece and Austria signed the Treaty.

The Schengen area is gradually extending to include every member, except for two non

signatories: the UK and Ireland.

Bulgaria, Romania and Cyprus were set to implement it in 2011.

Norway and Iceland are not part of the EU, but are part of the Schengen area following a

cooperation agreement signed with the Schengen states.

7. The Social Charter

All EU members except the UK adopted the Social Charter of basic workers’rights in 1989. It

set out a framework of principles covering living working conditions.

They also subscribed to the Social Chapter of the Maastrich Treaty in 1992. It allows all union

governments (except the UK) to pass directives in five areas if the majority agrees (majorityvoting

procedure): working conditions, equal opportunities, the working environment,

employee___consultation_______ (9), protection for ____pensioners______ (10) and the

unemployed.

Comprehension & discussion:

1) How were these results achieved? Mostly through treaties.

2) What are the pros and cons of the EMS?

Benefits to adopting the euro: end f currency instability, consumers do not have to change

money when traveling, lower interest rates, a single currency increases price transparency,

easier international trade, intended to provide better protection from external economic

shocks.

Disadvantages: countries lose their ability to print their currency and thus lose their control

over inflation, countries also must keep their annual deficits less than 3% of their GDP and

their debt-to GDP-ratio must be below 60%

3) What are the challenges currently facing the EU?

The UK decision to leave the EU, the refugee crisis, the Greece crisis and the Eurozone,

building a social Europe.

